
Order of Math Operations with Numbers -20 to 20 (E-2)
EXPRESSIONS WITH PARENTHESES II

Name:

Time: Score: /

425)

((6− (−12)÷ 6− 8− (−6)− 5)) =

426)

(13− 13)× 7÷ (3 + 3)− (−2) =

427)

(6 + (−12)− (−6)) + ((7 + (−1)) + (−1) 0) =

428)

(17 + (−16) + 54÷ 9 + 1× (−1)) =

429)

((18÷ 3) + 1− (−4) + (−5))× (−11) =

430)

((9× 0÷ 6− 7)) + 10 + 7 =

431)

(7 + (−9)× (−1)− (5 + 5)− 8) =

432)

((5− 12− 3))÷ (−1) + (81÷ (−9)) =

Mathematics: Order of Operations - Level 4 - Expressions - Set 2 55 © workulum.com

https://www.workulum.com

